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§729)

(iv)

(v)

(vi)

(vit)

(viii)

3 v7-97 4 FT 39 o7 & | @HT 97 S7ar & |
T8 Y97-97 Gielr @UST H [@91foid (5T 7 8- &, &, T, g0 F |

GUE & - Y7 &I 1 20 T%F FFIEHeHIT JHR & 7 & | F4% J97 1 37 &
&/

QU @ ~ Y97 &7 21 @ 26 TF 377 TY-IT0T JHR & J97 8 | Fe9% J97 2 371
#7181 57 Jo7 & IR 30 & 50 Y55l 7 13T 51 =00z |

@V T - Y9 G&IT 27 G 33 T TY-IHIT YR & Y & | Ie9F o7 3 3l BT
8 137 37 & IW50 & 80 FI5g) H 13T 77 =0RT

GUE T - 77 &I 34 T 36 7% e-FT0T JHR & T & | JAF o7 5 3] H
8 | 57 Jv7 & I 80 & 120 55l § 15T 7/ =iz |

GUE & - J77 G&I1 37 T 39 % 3 FIF-STT4IRT/FG-STIIRT FH7591 & Toolohd &
TR-TR bl & 97 (39-5571 @) &

97-97 H GHY 1999 78] 1597 T & | TEG, FS Gl § STake 999 T TTE |
59 YHR & o 7 dacT e 7 f[dhey &7 I dfaw |

@ug <h

39 @UE H 20 TglAHe1d I97 (3. . 1 20) & | @9t 797 a4 5 | 20%1=20

1.

frferfaa ® @ el gt o1 39 (SieT) g
(a) @I da AR e gy (b) I AR Fear
(c) < 1 da AR fotema foerm (d) Ife 3 Afde I

o 991 =1 3R T o off= SAMfshan w1 Egford THTTeh SRl SiH-41 7 ?

(a) ZCaO+H20 — ZCaOH+H2+3‘SEIT

(b) CaO + H)O —— Ca(OH), + H, + 3T
(¢) Ca0 + H)O —— Ca(OH), + S%HI

(d 2Ca0 +3 Hy0 — 2 Ca(OH), + Oy + ST
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1)
(ii)
(iit)

(iv)

(v)

(vi)

(vii)

(viii)

This question paper comprises 39 questions. All questions are compulsory.

This question paper is divided into five sections — A, B, C, D and E.

Section A — Questions No. 1 to 20 are multiple choice questions. Each question
carries 1 mark.

Section B — Questions No. 21 to 26 are very short answer type questions. Each
question carries 2 marks. Answer to these questions should be in the range of
30 to 50 words.

Section C - Questions No. 27 to 33 are short answer type questions. Each
question carries 3 marks. Answer to these questions should in the range of
50 to 80 words.

Section D - Questions No. 34 to 36 are long answer type questions. Each
question carries 5§ marks. Answer to these questions should be in the range of
80 to 120 words.

Section E — Questions No. 37 to 39 are of 3 source-based /case-based units of
assessment carrying 4 marks each with sub-parts.

There is no overall choice. However, an internal choice has been provided in
some sections. Only one of the alternatives has to be attempted in such
questions.

SECTION A
This section has 20 multiple choice questions (@.No. 1 — 20). All questions are
compulsory. 20x1=20
1. Select a pair of olfactory indicators from the following :

(a) Clove o1l and vanilla essence (b) Onion and turmeric

(c) Clove oil and litmus solution (d) Vanilla and methyl orange

The balanced chemical equation showing reaction between quicklime and
water is :

(a) 2Ca0 + HyO —— 2 CaOH + H, + Heat

(b)  CaO + HO —— Ca(OH), + H, + Heat

(c) Ca0O + H)O —— Ca(OH), + Heat

(d 2Ca0 +3 HyO —— 2 Ca(OH)g + O, + Heat

31/5/1 3 P.T.O.



3. feferfaa gemte safifshan =1 teq hifvu
2

Na (s) + 2 HyO () —— 2 NaOH (aq) + H, (g) 1

39 7fufshan & = 2
(a) Na b  H,0
(¢) NaOH (d) H,

4. O U H pH 671 2 | 38k A H ¢l i o fIU 38d SiH-a1 THRH
ugred e S 7 2
(a) HIfeIq HEHE
(b)  SfRT TR

(c) Hifeam gsgiadTss (Hifeesh dIen)
(@  dfhT At (Aifeam gEgeH SeHe)

5. Tt svaud arfeumss & fou ffafaa & @ wi9-01 o @&t 2 2
(a) I8 had 3 § Irfufshar swtar ® 3 urht 78 s R |
(b) g A 3R &N g1 & ATTshan ik v 3R gESINH 19 4T 2 |
(¢) I8 3TFA 3T Wk g1 & ITNTshaT hieh AUl R YT 14T B |
(d) I8 shad &res 4 rfufsrn wtar 8 S o) 7 s @ |

o 0

6. ffefaa # & foraeh s etfufseen a9 W gReifem omem a9 8 2
(a) Gifead gEgieaTss T M (b)  hicHIH FANES TR I
(¢) ET3SIoM FeIgs T 3 9Tt (@  TAATA A U

7. STFEISH ] H HEHASh ATE-9 i Hal e forg foashed § gurtan e g 2
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3. Study the following chemical reaction :
2 Na (s) + 2 HyO (I) —— 2 NaOH (aq) + H, (g) 1
The reducing agent in this reaction is :
(a) Na (b) H,0O
(¢0 NaOH (d) H,

4. Fresh milk has a pH of 6. To delay its curdling, a chemical substance is
added to it, which is :

(a)  Sodium carbonate

(b)  Baking powder

(c) Sodium hydroxide (Caustic soda)

(d) Baking soda (Sodium hydrogen carbonate)

5. Which of the following statements is true for an amphoteric oxide ?
(a) It reacts only with acid and does not form water.
(b) It reacts with acid as well as base to form salt and hydrogen gas.
(c) It reacts with both acid as well as base to form salt and water.

(d) It reacts only with base and does not form water.

6. Hydronium ions are formed by the reaction between :
(a)  Sodium hydroxide and water (b) Calcium chloride and water

(c) Hydrogen chloride gas and water (d) Ethanol and water

7. The correct representation of covalent bonding in an oxygen molecule is :

31/5/1 =5 = P.T.O.
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8. foreht UTew &% 9 9T (aerial parts)ﬁ AT o &Y H TA hl g 814 bl
TfshaT I X hgd 8 N Ig Y H FgFdl Hidl & | Ig1 X 3 Y haw: 8 -

(a)  ATSHICHSH 3R YehTST-GIAN0 |

(b)  aTSATCESH AR A frma (femn) |

(c)  TAMTHRUT TR YHIN-TIATU o fotd Icurei <t ety | T1fd |
(d) TIHFRE IR Sl g Ual 8 Jd 3R @il 1 TRy |

9. T Sfal sl GO § Sl Siial shi 398 @+ i &
(a) dig gt 8 ifes Ima Shifad @1 o forw stfees stfedism =nfeu |
(b) TS BIA B RAifh Tt H il ARSI T T 16T T Bt 7 |
(c) °hH Il g Tl T § il ATeea shl ATAT %! T Bl @ |
(d) T It g FAIfh ST sl AYHSAH ITY I HIcA <hl &F0AT HH 7 |
10. T=faRad & el W fa=m i
() 9% A9 A @9 q F; S H A5h qin 2 |
(i) % A I TH W § gad i § Sar @ 2 |
3 BT (1) 3N (ii) o ToTT I9YH I HA: & -
(a)  STINTEl TA&I0T, THTE &Il
(b) TSl <01, TTUTST &0l

(c) Tl AL, ATIARTH AL
(d)  AIHT A&, AR AL

11. AR SR 1 98 7 Fred wEad) Iifeat 3ufeod gidt &, iH-a1 8 2

(a)  3ATIh Hol (b) T
(¢ T (d) T o A=A TR
12. IgUad I9 BRIT & SR § Hobdl ATl SHATY] SHd AR I3 Fshivd T
ELNE
(a) U™ dAT HIV-AIDS (b) HIV-AIDS dn 9841
()  TAIfe e fwfae (d)  Towicr@ qem e
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8. The process in which loss of water in the form of vapours from the aerial
parts of plants takes place is X, which helps in Y. Here X and Y
respectively are :

(a)  transpiration and photosynthesis.
(b)  transpiration and temperature regulation.
(c) translocation and movement of soluble products of photosynthesis

in phloem.
(d)  translocation and absorption of water and minerals from soil by
roots.
9. As compared to terrestrial organisms, the rate of breathing in aquatic

organisms is :
(a)  faster because they need more oxygen for their survival.

(b)  faster because the amount of dissolved oxygen in water is fairly
low.

(c) slower because the amount of dissolved oxygen in water is fairly
low.

(d)  slower because the capacity of water of dissolving atmospheric air
is limited.

10. Consider the following two statements :

(1) The trait that expresses itself in F; generation.

(ii))  The trait that keeps on passing from one generation to another.
The appropriate terms for the statements (i) and (ii) respectively are :
(a) Recessive trait, Dominant trait

(b) Dominant trait, Recessive trait

(c) Dominant trait, Inherited trait

(d) Recessive trait, Inherited trait

11. The part in which gustatory receptors are present in our body is :
(a) inner ear (b) skin
(c) tongue (d) inner lining of nose

12. The bacterial and the viral infections that may be caused due to unsafe
sex respectively are :
(a) Warts and HIV-AIDS (b) HIV-AIDS and Warts
(c) Gonorrhoea and Syphilis (d) Syphilis and Warts

31/5/1 <=7 P.T.O.



18. (1) Q, I3 ¢ (i) Q, V 3 W & &= Tael o T shusl: =5ieh 8 (T8 W
it o T 31ef B)

@ @) 1=% (i) W:%
b () Q=Ixt (i) W=VxQ
© Q=% Gi) V= %

o Q v
@ @ I= A (i) Q= W

14. TR@ H TWT ATIR A & ad ¥ Freht afast a8 @ qd & ufvam 6 3 fa
T vaTfEd & W R | fRE fag g & A foEm s F gfam i el
gt 2

(a) AR % 3 IW
(b) TR % 3k A=
(c) hITH o ddd H AR o I ol 3TN
(d) FTS % T H AR o GeAu sl 3R

15. oIS fogd shaett 220 VI J=1ferd fohT S T 1 kW oI w1tk S99 hidt & |
58 oI RIF IR 1 f=1a0 THA™ 91 31 A1MRT 2
(a) 1A
(b)) 2A
(0 4A
d b5A
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13. The expressions that relate (i) Q, I and t and (ii) Q, V and W respectively
are (Here the symbols have their usual meanings) :

@ ) I=% Qi) W:%
b () Q=Ixt Gi) W=VxQ
© @ Q=% Gi) V= %
@ @ I=% Gi) Q= %

14. A constant current flows in a horizontal wire in the plane of the paper
from east to west as shown in the figure. The direction of the magnetic
field will be north to south at a point :

(a)  directly above the wire.
(b)  directly below the wire.
(c) located in the plane of the paper on the north side of the wire.
(d) located in the plane of the paper on the south side of the wire.

15. An electric kettle consumes 1 kW of electric power when operated at
220 V. The minimum rating of the fuse wire to be used for it is

(@ 1A
b)) 2A
(c) 4A
d bHA
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16. Torell Tl dieft afemicren ® fagga g™ saTfea et 39k gl I W N 3R S
ga 3c9d fpu w7 | ffafea o @ sH-a1 %A 7e7d § 2
(a) TRt o it greehie & W@ weet W@rsti & &9 § § S 9% 3
AT 2 Toh aiETicrent & Wiqt @+ forgatl W grehly & Tshem™ 7 |
(b)  HNATITeRT o WA Icqd T Fraeh™d & TRHATIeTh! o Wit W T4 @y
%! Frafehd L Hehal 8 |

(c) gNIETE UNATCIohT o Fraehd &F 1 U1 B Trach  Jrachid & oh
Yo @ T giaT 8 |

(d) IRATTeRT € JaTied 9RT ol 3ohHd ohid T N 3R S gai i e
AeAT-Scd! & It 3 |

Uy7 @&IT 17 @ 20 & (70, 31 %97 130 70 § — G789 vk &l Jf9FHIT (A) TouT
g &1 FRT (R) gRT 3ifesa faar a7 & | 37 9971 & @gt 3w 41 137 77 @#ist
(a), (b), (c) 3T (d) T @ A& T |
(a) 3P (A) 3 SR (R) T T@l & 3 SRl (R), AR (A)
&l SIS il B |
(b) AR (A) 3R HRU (R) GHI F&l &, Td SR (R), 3R (A) hl
HE AT FET LAl g |
(c)  39HIE (A) T8l §, Teg HRT (R) T4 2 |
d) RpEE (A) A 8, T RV (R) T 7 |

17. 37997 (A) - Tafafiaa et stiufsa

‘ /n0+C ——> Zn + CO
T ZnO 1 9= 8d1 & |

HR (R) : e YIS & S ZnO ! Zn H STU=RG L <1 8 |
18. 3¥HIT (A) : HHG SANAT AU H Tk =] aeridl & |
FRU(R): Tt Tiiefig # wft faftmarsn & fou o e 4 =g wdt 8
It | Ikl IALSHIAT o THH 799 B B |
19. 3% (A): e s fulat fem 1 fufaat 6 sl 91d 8 8 |
HRO(R):  TieTa &t SRR 1 979 s 3= 7@ W fafir o § qg=mn g 2 |
20. 3UFHYT(A): Tredl e Y qR F AW AR H q FEHT AF @Y
sh-GEX I Jldesed A1 hidl o |
HRU(R): AR H YaTed 91 & qiE | g o W foret fomg @ 3eo=
Trah & % afrer # gig 8 St R |
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16. For a current in a long straight solenoid, N and S poles are created at the
two ends. Among the following statements, the incorrect statement is :
(a) The magnetic field lines inside the solenoid are in the form of
straight lines, which indicates that the magnetic field is uniform at
all points inside the solenoid.

(b) The strong magnetic field produced inside the solenoid can
magnetize the soft iron placed inside it.

(¢) The pattern of the magnetic field associated with a current
carrying solenoid is different from the pattern of the magnetic field
around a bar magnet.

(d) The N and S poles exchange positions when the direction of
current through the solenoid is reversed.

For questions number 17 to 20, two statements are given — one labelled
as Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (a), (b), (c) and (d) as given
below :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b)  Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

17. Assertion (A) : In the following reaction

ZnO +C —— Zn + CO
ZnO undergoes reduction.

Reason (R): Carbon is a reducing agent that reduces ZnO to Zn.
18. Assertion (A) : Human populations show a great deal of variations in
traits.
Reason (R):  All variations in a species have equal chances of surviving

in the environment in which they live.

19. Assertion (A) : The walls of atria are thicker than those of the ventricles.

Reason (R):  Ventricles have to pump blood into various organs at high
pressure.

20. Assertion (A): Two magnetic field lines around a current carrying
straight wire do not intersect each other.

Reason (R):  The magnitude of the magnetic field produced at a given
point increases as the current through the wire increases.

31/5/1 11 = P.T.O.
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21. (F) X H 373 KW ™ HH W I§ T AYA ol @R Y’ § uft@afaa g
ST 2 1Y vEn uerd 3 frmen 3w sie ¢ sfeat # wdl Sg W
foor @ & fou o 2 |
(i) X 3R Y’ =l YgEHT |

(i) X Y H fhH TR IA: U foharm S weha @ 2 2

AAAT

(@) < foea M 3R N 9T o o a1 3hasl: A R e U1 ¢d & |

i) T O fho faoem ° sseem Al i grgar SAfees 7 2 1w
I I gfte il |

(i) Ife T foe—t M 3 N <t e feam s ot gftomdt fasmor <6
qrafeh gaeh gRI q0&v foham ST, @ 98 80 & 3l 8 | §94 9Tl

AT <h1 TR T 2 ? Y I hi gfee T | 2
22, = fqu U sm@ § qfreRt HIRERT (FRH) % AW Q) 3T (i) AW T IR
Frf forflgu | 2
<@

I

(i1)

23. (%) THRI-ETATU hI YfhAT o TEA g arell gearedi Hi fud wE § g

TS | 2
YT
(@) Tret arew Y ufet gro Scasi & fou omog IM areft @ fafern i
Y9 # =iyt HIfvu | 2
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SECTION B

21. (a) On heating X’ at 373 K, it loses water molecules and becomes Y.
Y’ is a substance which doctors use for supporting fractured bones
in the right position.
(i) Identify X’ and Y.
(ii) How can X’ be reobtained from Y’ ? 2

OR

(b) Two solutions M and N give Red and Blue colour respectively with a

universal indicator.
(i) In which solution will the hydrogen ion concentration be
more ? Justify your answer.
(ii)) If both M and N solutions are mixed and the resultant mixture
is tested with a universal indicator, it turns green. What is the
nature of the salt formed ? Justify your answer. 2
22. Write the name and function of parts (i) and (ii) in the diagram of a

neuron given below. 2

<«— (1)

I

(i1)

23. (a) List the events in proper sequence that take place during the

process of photosynthesis. 2
OR
(b) Explain in brief two ways by which leaves of a plant help in
excretion. 2

31/5/1 13 = P.T.O.
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25.

26.

27.

28.

AHET § 9IS 6 9= <hl >||9h<4| H Il bl U= i I &l USTeH FTfdd aid
2 | 39 TSATSHI ohT ATH 3T $9eh! HTfad s aTail Ui o 919 fafgu |

foreht A1 ° yfafers s @@ne 9 f=fafaa sma 1 vem hifse

(%) 6 M@ H gAY gfee gy 1 TE=e |

(@) 39 QY % g UM hl T ST qAT QY 5 TN o oI ITH |
g |

fFefiTiad SR sT@el |, Ifc 915 i 50 J il 3uared off, al Y| IR qd
it Tl | fopat Sort Iufeera @ grft 2 3 I A gfte i |

Qs T

() Tefowemom stfufsran i aftamt @ |

(@) et weft fgfoemm arfufsean &1 omafie oo fafee o
(i) JerEertor tffsrar T (i) staagur stfufsear off & | ot ST Al
gfte ST |

(%) -t g8 % pH 1 AF 5:5 F % & a1 8 | =1 2

(@) kT disT T I b IYET IHHT {ShEeciihvl T W AR TG0
K I BT 8 | X ol YBHI-T AR 3Heh & 3Mfeh IUAN ol IgE@
HIT |

(1) IR Tethe o fohteat T fhU I W vad =11 &1 I & ?
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24.

25.

26.

27.

28.

In the process of digestion of food in human beings, two protein-digesting
enzymes are secreted. Name the enzymes along with the glands that
secrete them. 2

Observe the following diagram showing an image formation in an eye :

(a) Identify the defect of vision shown in the figure.

(b) List its two causes and suggest a suitable corrective lens to
overcome this defect. 2

In the following food chain, if 50 J of energy was available to the hawk,
how much energy would have been present at the first and third tropic
levels ? Justify your answer. 2

Grass —— Grasshopper —— Frog —— Snake —— Hawk

SECTION C

(a) Define a double displacement reaction.

(b) Write the chemical equation of a double displacement reaction
which is also a (i) Neutralization reaction and (ii) Precipitation
reaction. Give justification for your answer. 3

(a) Sometimes the pH of our mouth gets lower than 5-5. Why ?

(b) A basic salt X’ is obtained by heating baking soda followed by
crystallisation. Identify X’ and state its two industrial uses.

(c)  Why do copper sulphate crystals turn white on heating ? 3

31/5/1 15 < P.T.O.
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30. ()
(@)
31. (&)
(@)
32. ()

31/5/1

forelt Topamerad <Al Tgar ¥ TS99 WIS <l 89 @ @ 39 W ATdd
() = foran it e i |

qTed i kAT # o @ AUl #4172
(1) 5cm§ﬂlﬁ§&*ﬁ180mﬁw3ﬁ%wwa‘?%

SehIITeh % ¥ 20 cm sl G T T@T 2 | 36 TR0 H (1) Hfdferrs
1 gl 3R (2) FaeH *1 g HIfT |

(i) T TH IR ITA @ b Gl & HHI hl T HINT &
T il g ST S ST Sfdfees et 8 )

HAAAT
his 3 oF ToHl fora =1 (i) dIrEdfaeh, 3ol 3R foafda gfafars s
o TIY-EY (1i) IGehT IATET, Hear R faafda afafers off =1 wopar 3 |
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()  gftewed (¥fem)

(i) g

= @ faftm gfai W foua forall o wiepes | qewmedt ufrt 1 fiet &6
Ieci@ hifer

(i)  Ig HGT JTHRAR ATeieh fohell ATel Jraeh o Jrachid & § 39+
He I & b e W gL Ml 8 | 99 39 =i 9 HIg
YT JaTfed Bt 2 @ 78 St iR feeenfia & S ® | 5@ e
o oo W R ywE g At
(1) =T ¥ Jaligd 9/ | ghg L& S0 ?
(2) T Jraeh % T W D3 3 39E Yoo AT grIeh @

RIS L
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29. (a) With the help of an activity, explain the action of saliva on the food

we eat.

(b)  Why is bile juice important in the process of digestion ? 3

30. (a) () An object of 5 cm height is placed at a distance of 20 cm from
the optical centre of a concave lens of focal length 18 cm.
Calculate (1) image distance and (2) the magnification in this
case.

(ii) Compare the values of magnification obtained by a concave
lens and a convex lens when both the lenses form virtual
images. 3

OR

(b) A convex lens can form a (i) real, inverted and magnified image as
well as (ii) virtual, erect and magnified image of an object. If the
focal length of the lens is 10 cm, what should be the range of the
object distance in both cases ? Draw ray diagrams to justify your
answer. 3

31. (a) State one important function of the following parts of the human

eye :
(1) Retina
(i1)) Pupil

(b) State the role of ciliary muscles in focussing objects at varying
distances from the eye. 3

32. (a) () A straight cylindrical conductor is suspended with its axis
perpendicular to the magnetic field of a horse-shoe magnet.
The conductor gets displaced towards left when a current is
passed through it. What will happen to the displacement of
the conductor if the
(1) current through it is increased ?

(2) horse-shoe magnet is replaced by another stronger
horse-shoe magnet ?

(3) direction of current through it is reversed ?

31/5/1 17 = P.T.O.
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AASAT

fret Afos weae @ Fealewd: ToRa fAEt amETE @Y 9o gra
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(ii)) Name and state the rule for determining the direction of force

on a current carrying conductor in a magnetic field. 3

OR

(b) Draw the pattern of the magnetic field produced around a vertical
current carrying straight conductor passing through a horizontal
cardboard. Mark the direction of current and the magnetic field
lines. Name and state the rule which is used to determine the
direction of magnetic field associated with a current carrying

conductor. 3

33. How is ozone formed in the higher levels of the atmosphere ? “Damage to

the ozone layer is a cause of concern.” Justify this statement. 3

SECTION D

34. (a) A neutral organic compound X’ (Molecular formula C,HgO) on
reacting with acidified K,CryO; gives an organic compound Y’
which is acidic in nature. X’ reacts with Y’ on warming in the

presence of conc. H,SO, to give a sweet smelling compound 7.
(i) Identify X’, Y’ and Z’.

(i1) Write the chemical equations for the reactions in the

conversion of (1) X’ to Y’ and (2) X’ to Z’.

(111) State the role of (1) acidified KZCr207 in the conversion of X’
to Y’ and (2) conc. HZSO 4 in the reaction of X’ and Y.

(iv) Name the reaction which occurs when ‘Z’ reacts with an alkali. 5

OR
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(1)
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(b)

35. (a)

(b)

31/5/1

Carry out the following conversions, stating the condition(s) for
each :

@)
(ii)
(iii)
(iv)
(v)

(i)

(i)

(iii)

(1)

(i1)

Ethanol —— Ethene

Ethene —— Ethane

Ethane —— Chloroethane
Ethanol —— Ethanoic acid
Ethanoic acid —— Ethyl ethanoate

Where are testes located in the human males and why ? State

two function of the testes.

In the human female, one of the ovaries releases an egg every

month. State the changes that take place if
(1) the egg is fertilized, and

(2) the egg is not fertilized.

What is done during the surgical method in males and

females to prevent pregnancy ?

OR

What happens when :
(1) Leaves of Bryophyllum fall on the soil ?
(2) Planaria is cut into many pieces ?

(3) Sporangia of Rhizopus on maturation liberate spores ?
Mention the modes of reproduction in each of the above three

cases.

Write the changes that occur in a flower once the fertilisation

has taken place.
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36. (a) State Ohm’s Law.

(b) Name and define the physical quantity determined by the slope of
V — I curve given in the diagram. Use this graph to find the value of
this physical quantity in SI units.

(c) Establish the relationship between 1 kWh and 1 joule. 5

SECTION E

The following questions are source-based/case-based questions. Read the case
carefully and answer the questions that follow.

37. DMetals are required for a variety of purposes. For this we need their
extraction from their ores. Ores mined from the earth are usually
contaminated with many impurities which must be removed prior to the
extraction of metals. The extraction of pure metal involves the following
steps :

(1) Concentration of ore

(2) Extraction of the metal from the concentrated ore

(3) Refining of the metal
31/5/1 23 P.T.O.
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(a) Name an ore of Mercury and state the form in which Mercury is

present in it.

(b) What happens to zinc carbonate when it is heated strongly in a
limited supply of air ?
(c)  The reaction of a metal A with Fe,O4 is highly exothermic and is

used to join railway tracks.
(I) Identify the metal A and name the reaction taking place.

(IT) Write the chemical equation for the reaction of metal A with
Fey0g.

OR

(c) We cannot use carbon to obtain sodium from sodium oxide. Why ?
State the reactions taking place at cathode and anode during
electrolytic reduction of sodium chloride.

38. In some families, either rural or urban, females are tortured for giving
birth to a female child. They do not seem to understand the scientific
reason behind the birth of a boy or a girl. In fact the mother is not
responsible for the sex of the child and it has been genetically proved that
the sex of a newborn is determined by what the child inherits from the
father.

(a) State the basis on which the sex of a newborn baby is determined in
humans.

(b) Why is the pair of sex chromosomes called a mismatched pair in
males ?

(c) How is the original number of chromosomes present in the parents
restored in the progeny ?

OR

(c) Explain by giving two examples of the organisms in which the sex is

not genetically determined.

2
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39. Many optical instruments consist of a number of lenses. They are
combined to increase the magnification and sharpness of the image. The

net power (P) of the lenses placed in contact is given by the algebraic sum
of the powers of the individual lenses P{, Py, P5 ... as

P=P1+P2+P3...

This is also termed as the simple additive property of the power of lens,

widely used to design lens systems of cameras, microscopes and

telescopes. These lens systems can have a combination of convex lenses

and also concave lenses.

(a) What is the nature (convergent / divergent) of the combination of a
convex lens of power + 4 D and a concave lens of power —2 D ?

(b)  Calculate the focal length of a lens of power — 2-5 D.

(c) Draw a ray diagram to show the nature and position of an image
formed by a convex lens of power + 0-1 D, when an object is placed at

a distance of 20 cm from its optical centre.

OR

(c) How is a virtual image formed by a convex lens different from that
formed by a concave lens ? Under what conditions do a convex and

a concave lens form virtual images ?
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